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B.Tech., IV Semester
Examination, May 2019
Choice Based Grading System (CBGS)
® Instrumentation and Control |

Time : Three Hours
Maximum Marks : 70

Note: 1) Attempt any five questions out of eight.
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ii) All questions carry equal marks.
Tt el b A 37 &
iii) In case of any doubt or dispute the English version
questlon should be treated as final.
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1. a) Explainthe needand standard procedure for calibration.
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b) What is error? Discuss the various types of error during
measurement.
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2. Discuss in brief, how to get the output response of an
instrument for transient input signals

i) Using differential equation solution method.

ii) Fourier transformation method.
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3. a) Explain the principle,construction and working of
Resistance Temperature Detectors (RTD).
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b) Discuss the construction, working and application of U
tube manometer.
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4. a) Explain the working principle of electrical strain gauges.
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b) Discuss the working of torque testing dynamometer.
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5. a) Explain the open loop and closed loop control system
- with suitable diagram. |
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b) What do you understand by the term transient and steady
state response of control systems?
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6. a) Discuss the selection of instrument:'based on the
performance characteristics of the instrument.
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b) A thermocouple with a time constant of 0.3s and static
sensitivity of 0.04 mV/°C is suddenly immersed in a bath
of hot oil, which 1s at 100°C. The initial temperature of

the thermocouple measuring-and reference junction was
25°C.

1)  Whatis the outputatt=0.1,0.3 and 1.0s?

ii) Designacompensating circuit to be used along with

the thermocouple so that the time constant is reduced

~ to half its‘value. For this system, find the output at
t=0.1,0.3and 1.0s.
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7. a) Explain the construction and working of a venturimeter.
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b) Explain the working of load cell with neat sketch.
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8. Write a short note of the following.
i) LVDT
ii) Uncertainty analysis

iii) Pyrometers
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iii) UTERMHICY
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